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kA & 32 - 1 - 1 1 1 2 1 - - 39 0.08
kB % 3 2 - 1 - - - - - - - 6 0.05
FrEa) 2 - - - - - - - 3 - - 5 0.08
P8 & - 2 - - - - - - - - - 2 0.04
TAkE K| - - - - - - - - - - - 0 0.00
B ias 5 1 - - - - - - - - - - 1 0.01
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y 31 10 | 63 | 51 12 8 2 - 2 - - - 148 0.97
Hu s 17 8 - - - - 1 1 - - ]2 29 0.04
a3t 65 | 75 | 52 | 13 9 3 2 5 [ 40 | 2 230 0.13
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. 131 4 -134 4 -137 45 -134+4%-137
RE| EHp Y oy ) s e e o Ex =
(Bs/=>T7) [ (B w/2T7)| (B/=T) (B w/=>7)
230 | 110.05.06 NAE EPE B as - - 2.3 2.3 7 S PR EHI9E
i
229 | 110.04.19 CRA N Hisam& - - 1.2 1.2 = PR EHi9E
228 | 108.12.26 LR FCE - 1.3 28 29.3 W Bt B
227 | 108.12.03 Bk A i CEFE - 1.2 20.5 21.7 = © A
226 | 108.12.03 o kA& & - 0.7 8.4 9.1 A © A
225 | 108.10.30 ¥Ch & JCERF - 0.5 13.6 14.1 £ o &L RGRY:
224 | 107.9.21 . KA & - - 5.1 5.1 A © 4K
223 | 107.8.27 53k el 8% - - 31.23 31.23 L 4 o g TR
222 | 107.05.17 1B F X 2.98 2.98 b1 ¢ 9
221 | 107.5.11 HE X 6.47 6.47 W ¢ i9iF
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A =2 - BBl 134 B-137 | 81348137 i
(Ba/29) [ (Ba/29)| (Ba/29) | (B&/27)
210 | 104.06.16 B F KA - 3.7 15.1 18.8 TE
209 | 104.05.13 - O 33 - . 248 248 Fr
208 | 104.04.24 S S S W - - 0.34 0.34 ¥ B
207 | 104.01.29 BEF T ] 12 3 10 rren
206 | 104.01.22 *F KA - 6.8 17.8 24.7 # b
205 | 103.12.11 *F K - 14.1 44.5 58.6 #
204 | 103.10.23 = F Lk - 12.6 42.1 54.7 # I
203 | 103.09.25 | * @i A o ] 3.9 138 177 ey
202 | 103.09.19 SR Fe KA - 12.8 39.7 52.5 i 7
201 | 103.09.03 H# Lk - : 2.1 2.1 # I
200 | 103.08.18 & Fp KA i 13 37 c e
199 | 103.08.08 B % K i i 63 53 ey
198 | 103.07.18 B % K i i 147 147 ey
197 | 103.06.25 $F T i ] -9 -9 e
196 | 103.05.26 B # K : 23.1 65.1 88.2 # I
195 | 103.02.24 RFEFe g ] 15 39 2 rew
194 | 103.02.21 $F g ] ] 12 1o  h




A o= 5y a*,j-m/ %-134/ ﬁi-l?ﬁ/ ﬁﬁ'l?’f‘%'}” 45 o
(B a/27)| (B R/27)| (B#/2T) (B 5/27)

193 | 103.01.22 %K 3 - - 4.5 4.5 =
192 | 102.11.28 2P F 3 - - 3.6 3.6 &
191 | 102.11.28 BE /33 - - 6.7 6.7 IR
190 | 102.11.14 Sk r 31 - - 2.3 2.3 =
189 | 102.11.8 5 E r 33 - 5.1 9 14.2 B R
188 | 102.10.28 S kA& - 1.6 4.4 6 yales
187 | 102.9.26 HE 33 - 1.4 4.4 5.7 =
186 | 102.9.26 %K 33 - 1.7 3.6 5.3 W
185 | 102.9.24 3 r 31 - 2.9 5.8 8.7 A b
184 | 102.9.24 S 33 - 1.1 2.2 3.3 =
183 | 102.8.15 S X3 - 0.8 2.1 2.9 5
182 | 102.8.15 G F T EER r 33 - 0.5 1.7 2.2 =
181 | 102.7.26 CI ¥ X - - 5.4 5.4 i »
180 | 102.7.11 SV 3 FiE - 41 9 13.1 e
179 102.7.11 A -3 - 15 3.6 51 &
178 | 102.7.10 RS X - 23 49.9 72.9 x0T
177 | 102.7.10 % F 33 - 12.5 31.5 44.1 A
176 | 102.7.10 Bx X3 - 33.6 74.2 107.8 AE
175 102.7.4 HE R - - - 0.9 0.9 LK




s | e - o mBL | #8134 #-137 | #-134448-137 .
(Ba/27)|(Ra/aT)| (B&/2T) | (B&/27)
174 102.7.2 *E A FAE . 19 35 54 o
173 | 102.6.28 HE A i } > ) .
172 | 1026.19 B # Lk : 16.7 33.8 50.5 # I
171 | 102.6.17 5 E R - 6.3 15.3 21.6 # B
170 | 102614 s E K - 14.1 30.8 44.9 #
169 | 10266 *F KA - 2 5.4 7.4 # b
168 | 102515 " F a - 37 10.6 14.3 % 3
167 | 10258 " E a - - 4.8 4.8 % 3
166 | 102.5.3 #F KA i 1 19 29 o,
165 102.5.2 FEEZA R 31 _ i 25 25 =
164 | 102.4.29 #E 31 - 21 3.1 59 K
163 | 1024.19 A KA : 5 8.3 13.4 # b
162 | 102.4.19 K A : - 5.7 57 .
161 | 102.4.19 S K EAE i 5.6 109 165 oy
160 | 102.4.16 = -3 - 1.2 25 36 Fr
159 102.4.15 -y FiE - 75 15.3 228 S
158 | 102.4.11 3 -3 - 1.4 26 4 Frre
157 | 102.4.10 HER AR i 21 39 6 o
156 | 1024.2 SFERE i - 5.6 136 19.2 # I




pe | wp =2 e ﬁj_m, %-13{ %-137/ 55-1344%5.;137 i
(B3/2T)[(B2/2T)| (Ba/2T) | (BR/2T)
155 | 102.3.19 EN- K4 ] 54 9 144 o
154 | 102.38 *EH ik - 8.5 174 25.9 L3
153 | 102.3.7 S ki : 27.4 41.9 69.3 i
152 | 102.3.7 HF F A - 38 8 118 7
151 | 102.3.7 HF E A i 14.2 26 402 e
150 | 102.34 Sk k3 - 4.6 21 25.6 L 7
149 | 102.2.27 &Fe g ] 53 03 146 o
148 | 102.2.27 PR E K4 ] ) 05 05 o
147 | 102221 FEHE Fu - - 6.8 6.8 § 4
146 102.2.6 3 -3 - 16 29 3 453 1
145 | 102.2.4 HERF iy i 29 3.9 61 o
144 102.1.25 HE 33 . i 55 55 EXT
143 102.1.23 S K -3 - . 215 215 W
142 | 102.1.17 &F i i 16.1 28 121 o
141 | 10214 SEF KA - 2.8 6.6 9.5 & &
140 | 101.12.27 2K E Ik - 1.4 2.4 3.8 LR
139 | 101.12.27 HF E A - 3.2 43 76 R
138 | 101.12.20 HEP iy ] 36 6.9 105 5
137 | 101.11.29 HEP Ky ] 88 15 3.8 C
136 | 101.11.23 &F Ky ] ] 13 13 o




B | #ip A A #g) Ce N $-137 [ Bo13418-137 s .
(Ba/25)| (B a/29)| (Ba/25) | (B&/a9)
135 | 101.11.20 $FP o ] 06 13 19 o
134 | 101.11.15 B # Lk : 17 2.6 4.3 # I
133 | 101.11.15 $F e ] 31 £8 S rew
132 | 101.11.14 *F K - 2.1 5.7 7.8 § i
131 | 101.11.14 FOBE F - 7.3 1.4 8.7 § 4
130 | 101117 H# s : 14 17.2 31.2 # b
129 | 101.10.11 s k% 5 i 2.9 5.7 86 e
128 | 101108 R EE D PR i 154 28 FEY 5
127 | 101.104 BF B . 75 10 175 # I
126 | 101104 K e o i 14 - P Prew
125 | 101104 i g i 43 8.8 13 o
124 | 101.10.3 s F KA : 12.4 213 33.7 i %
123 | 101.10.3 H# Lk : 16.6 29.9 46.5 # I
122 | 101.10.2 nF g ] 116 o1 326 e
121 | 101101 | #EF(He Kik PR - 10.6 13.2 238 L
i )
120 | 101.9.27 3 K : 24.9 45.6 70.5 <R




e . a*,i-m/ %-134/ %-137/ ié‘-13jl+£5 -/137 45
(Bs/27) | (B s/2T)| (B/27) (B 5/207)
119 | 101.9.20 9% %3 - 2.1 3.8 6 LS
118 | 101.9.13 33 - 3.2 5 8.3 L4
117 101.9.6 ¥l - 4.9 6 10.9 Ik g
116 | 101.8.31 33 - 6.7 10.3 17 #
115 | 101.8.28 3 - 3.2 6.5 9.7 sk
114 | 101.8.22 185 - 3 47 7.7 #
113 | 101.8.14 33 - 10.7 18.9 29.6 15
112 | 101.8.10 3 - 23.2 40.7 63.9 W
111 | 101.8.10 3 - 14.3 25 39.3 W
110 | 101.8.10 rx- - 15.5 24.7 40.2 #
109 101.8.9 el G5 - 5 8.1 13.1 A
108 101.8.9 rx- - 7.1 11 18.1 #
107 | 101.7.31 r 31 - 3.9 6.3 10.2 i
106 | 101.7.31 r3-3 - 28.7 43.5 72.2 i
105 | 101.7.26 r 31 - 2.3 3.8 6.1 h
104 | 101.7.26 3 - 12.5 20.7 33.2 § 4v
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A o= ?'i_m, %-134/ %-13? 55-1344%5-/137 45
(B a/27)| (B R/27)| (B#/2T) (B 5/27)
103 | 101.7.25 HER - 34 5.3 8.7 g v
102 | 101.7.25 | A4 Ri(7H & ik - 10.8 15.2 26 A a
f& 1)
101 | 101.7.24 CI - 24.4 32.8 57.2 * K
100 | 101.7.24 B X - 12.5 26.1 38.7 LR
99 101.7.13 K r 3 - 9.7 14.1 23.8 =
98 101.6.29 HE r 3 - 47.6 76.3 123.9 193
97 101.6.20 2k EE 33 - 11 17.9 28.9 1}
96 101.6.19 ¥ 31 - - 0.2 0.2 1}
95 101.6.15 ¥ X3 - 28.6 45.8 74.4 <R
94 101.6.11 s F r 33 - 12.2 17.7 29.9 LK
93 101.5.30 | s & FL(%h e EHcE | 418 & - 10.1 16.9 27 AREET]
)
92 101.5.29 HER V33 - 18.5 43.6 62.1 W
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B | EEp = P @j'm, ﬁéi-134‘ %-137/ 134445137 . .
(B A/29) [ (Ba/aT)| (Ba/aT) | (Ba/29)
91 | 101518 SFERE KA - 49.3 79.2 128.5 # I
920 101511 | R F (e KikE PR - 16.9 22.2 39.1 STIEH
)

89 | 101511 BERE 33 - 47.6 81.8 129.5 # B
88 | 101.5.3 & F K g i 34 53 g7 o
87 | 101.5.3 FORF F 4 - 50 77 127 # b
86 | 101.5.3 FORE F A - 17 27 44 # b
85 | 101.05.03 HE K g i 8.3 1 193 5
84 | 101.04.27 BFERF Fi - 42.2 60.9 103.1 # Iy
83 | 101.04.19 3 -3 - 18.4 29 47 4 IR
82 | 101.04.19 =0 X3 - 8.8 11.1 19.9 * K
81 | 101.04.14 HERE KA : 31.9 44.5 76.4 # I
80 | 101.04.11 LR 13 - 11.8 16.6 28.4 <R
79 | 101.04.06 PoA R E K ] 719 109.6 1815 oy
/8 | 101.04.06 BFE KR : 12.7 19.8 32,5 % 3
77 | 101.03.23 BEBRFE K ] 6.3 04 157 oy
76 | 101.03.16 BEBRFE g ] 29 31 =3 oy
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#-131 4%-134 45 -137 4% -134+4%-137

BE.| ZHp ¥ =7 AR , , , . A b
ui T e (Bse/27) [ (B s/27)] (Bs/2T) (B s/27)
75 | 101.03.15 K r 3 - 52.6 97.4 150 L
74 | 101.03.14 B R 3 - 16.4 27.4 43.8 i A
73 | 101.03.08 B AEEEE) X - 42.4 54.7 97.1 W
72 | 101.02.29 S EE KR - 58.5 85 1435 =
71 | 101.02.23 | A4 E P (he EHc | 4l 8% - 2.9 - 2.9 A s i
£ 1 1)
70 | 101.02.23 SF KA - 35.4 45.9 81.3 # I
69 | 101.02.23 | A4 & P (¢he i | 4l 8 F - 8.9 15.1 24 A e g
)
68 | 101.02.17 3 33 - 2.7 5.6 8.3 /S
67 | 101.02.06 | ¥ % Z B E (¢t & I - 8.8 11.7 20.5 LA
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O I = o #elBL [ 134 #8137 | 8134188137 i .
(B2/25)| (B a/2T)| (Ba/2T) | (B&/27)
66 | 10114 5 F KA - 49.9 69.4 119.3 # b
65 100.12.28 1 & 2 - g - 4.6 5.7 10.3 NI
64 | 100.12.17 BFR A i 132 189 31 ey
63 | 100.12.14 $F FH : 3.3 4.1 7.4 IR
62 | 100.11.30 AFP A kA & - 6.2 8.2 14.4 4
61 | 100.11.25 AR KR - 13.4 18.2 31.6 # W
60 | 100.11.14 2 R A kA& - 2.5 4.8 7.3 & 4
59 | 100.11.11 2 R A kA& - : 2 2 & 4
58 | 100.11.11 F kA & - 2.7 4.1 6.7 & 4
57 | 1001111 | A4 % (e £k | w185 - 26.8 38.1 64.9 s i
L)
56 | 100.11.10 S F KA : 43.8 52.4 96.2 # b
55 | 100.11.09 £+ kA : 6.6 75 14.1 i &
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. #-131 4-134 4-137 4 -134+45-137
BE | #EHp Y &t A g e o o o
(Bse/amT) [ (Rw/aT)| (Bs/aT) (B s/=0T)

54 | 100.11.07 | @& 7 g(¢t& % | 4185 - 32.6 40.2 72.8
He® & )

53 | 100.11.07 | @@ # 7 A(¢F e % | 418 % - 33.4 46.7 80.1
Mg e )

52 | 100.11.01 Y N KA & - 5.7 7.2 12.8

51 | 100.10.31 i kA & - 4.4 6.1 10.6

50 | 100.10.28 B A kA & - 1.6 2.4 4

49 | 100.10.25 5 H A kA 5 - 6.7 10.8 17.5

48 | 100.10.25 g et ) kA & - 19.6 28 47.6

47 | 100.10.25 AR A kA 5 - 3.7 5.4 9

46 | 100.10.20 a3 €5 - 20.7 24 44.7

45 | 100.10.05 a3 9% X3 - 14.5 16.2 30.7

44 | 100.10.04 ¥ gk KA & - 58.1 64.4 122.5

43 | 100.10.04 S A KA & - 2.4 3.1 5.5
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. #-131 4%-134 4%-137 4% -134+4% -137
E5.| #tkp ey A 3 . , . , . , . , A b
(Bse/amT) [ (Rw/aT)| (Bs/aT) (B s/=0T)
41 100.09.20 FH AR k& & - 6.1 7 13.1 § 4
40 100.09.16 bR A KA & - 7.7 8.3 16 R
39 100.09.13 v kA& & - 5.8 59 11.7 § Fr
38 100.09.13 N k& & - 3.3 6 9.3 -
37 100.09.09 b R k& & - 3.8 51 8.8 L
36 100.09.09 T N KA S - 2.2 3 5.3 A x
35 100.09.07 v 4 A KA & - 6.6 7.1 13.7 CR>3
34 100.09.07 b T R KA S - 9.6 12 21.6 L4
33 | 100.09.05 | i=kEd RL(*he EHe | 418 & - 39.7 37.5 77.2 A A g
)

32 100.09.02 Y S KA S - 6.3 8.1 14.4 CR>d
31 100.08.26 v 4 A& KA & - 7.4 6.5 13.9 L4
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¢ EmE M)

. 131 4%-134 4% -137 44 -134+45-137
BEL| P ¥ & BE . ) . ) . ) . ) A b
(Bse/amT) [ (Rw/aT)| (Bs/aT) (B s/=0T)
30 | 100.08.26 445 kA5 - 8.2 11.7 19.9 i A
29 | 100.08.26 ST R kA & - 5.9 7.7 13.6 LA
28 | 100.08.26 SRR KA S - 4.1 5.1 9.2 § 4
27 | 100.08.23 ¥ A kA & - 3.2 4.1 7.3
26 | 100.08.23 o i kA & - 4 3.8 7.8
25 100.8.16 e 3 ®HE - 31.8 31.6 63.4
24 100.8.16 B F X3 - 57.4 70.2 127.6
23 100.8.12 T gk KA S - 71.3 84.8 156.1
22 100.7.29 2 SR kA & - 6.2 8 14.2
21 100.7.29 2 S kA & - 3 35 6.5
20 100.7.21 S S ) kA & - 7.3 9 16.3
19 100.7.21 | 5 4 s k(4 - 34.9 33.3 68.2
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. @ -131 4% -134 4% -137 44 -134+45-137
BE | HEpY 52 A g T L L o X
(Bse/amT) [ (Rw/aT)| (Bs/aT) (B s/=0T)
18 100.7.20 3 &5 - 36.5 29.4 65.9 s=3
17 | 100.7.20 BF Fi - 110.4 93 203.4 # by
16 100.7.20 | EiER(¢t ¢ ik R R - 63.1 51 114.1 L
)
15 100.7.15 SR X3 - 37.6 40.5 78.1
14 100.7.12 | &g (et ¢ Eud el & & . 60.3 61.2 121.5
#®4)
13 100.7.12 | EiE(ct @ Eucd el & & . 52.4 58.8 111.2
#®4)
12 100.6.30 | FEEFiE(¢h ¢ EcE el & & - 53.2 55.1 108.3
)
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. #-131 4%-134 48-137 4% -134+4%-137
RE| EHp Y oy ) s e e e Ex =
(Bse/amT) [ (Rw/aT)| (Bs/aT) (B s/=0T)
11 100.6.28 | #E & & 7 (¢F & KM el d & - 37.8 43.4 81.2 A s g
i)
10 100.5.19 HE¥ PR - 1.8 2 3.8 Az
9 100.4.22 ¥ el 85 9.6 50.7 55.3 106 g
8 100.4.21 ek el a8 3.15 0.9 0.9 1.8 L
7 100.4.20 |3 AE SA R = 3.32 - 7 7 g2
6 100.4.14 IR A %*Z‘;‘év 7 el 85 1.74 0.6 0.8 1.5 LA
5 100.4.13 | F ks el 85 3.42 54 6 11.4 [
4 100.4.6 VR X Bk el 85 - - 41.4 41.4 =
3 100.3.24 | Bt (¢t e EikE | B 2a % 14.8 16.7 18.9 35.6 t

1)
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. #-131 4%-134 48-137 4% -134+4%-137
R | ik & 2 ) . s e s A % it
(Bse/amT) [ (Rw/aT)| (Bs/aT) (B s/=0T)
2 100.3.22 % Bk kA & 9 - - - & 4v
1 100.3.18 s RN 11 - 1 1 L2 g
AL
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